TOURISTS IN ORBIT -
COMPREHENSION

1- 0,5 point par réponse
a- a maiden flight
b- a training course
c- weightlessness
d- to pass

2- 1 point par réponse
a- Wrong — Buzz Aldrin is offering tourists day trips to space. A ticket will cost about $ 62,000.
b- Right — Aldrin, the second man to walk on the room after Neil Armstrong.
c- Right — The first place on the maiden flight was won by Raimund Czihak in a competition
organized by a supermarket chain.
d- Wrong — The space tourists will have to take a five-day training course.
e- Wrong — He thinks groups of 100 people at a time will be taking their vacation in space.

3- BEP : 1 point par réponse, CAP : 1 point par réponse
a- Space Adventure Travel
b- Aldrin and other astronauts
c- $ 62,000 (ou € 60,000)
d- it comes from lotteries
e- Raimund Czihak-Austrian

COMPETENCE LINGUISTIQUE

4- 2 points
a- have dreamt
b- created _
c- will be able to travel
d- thinks

5- BEP : 0,5 point par réponse. CAP aet b 1 point, c et d 0,5 point
a- who
b- whose
c- what
d- which

6- BEP : 4 points. CAP : 2 points
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